Verbs - errata, 26 Aug 2012

First column is the error; second column the correction. In the case of diagrams, only the
correct (original) diagram is given. Sometimes the diagram doesn’t fit in the second
column, and extends across both columns.

p. xiii, L. -9: Bowermen Bowerman

p. 66, Fig. 2.7 “wait state” should be horizontally
aligned with profiled state phase
(middle horizontal solid line)
rest state should be horizontally
aligned with initial state phase
(lower horizontal dotted line)

resultstate | -
"wait state" ’—,
rest state @~ f------

p. 82, ex. 27, first transition in first diagram
diagram should be solid, not dashed.:

q
result state =  ----

rest state
t
p. 94, ex. 54, last phase of first diagram should be
diagram dashed, not solid:




p. 97, ex. 59,
diagram

p. 98, ex. 60,
diagram

p. 227, ex. 12a,
diagram

p. 231, ex. 24a,
diagram

p. 251, ex. 68b,
diagram

first transition in first diagram
should be solid, not dashed.:

first transition in first diagram
should be solid, not dashed.:

second line should be dashed, not
solid:
beavers —» bark ----- trees

SBJ OoBJ S.OBL

second line should be dashed, not
solid:

director — Cindy ----- Jane

SBJ OoBJ S.OBL

second line should be solid, not
dashed:

shopkeeper ----- port

OBJ S.OBL
[purpose fonr]



p. 251, ex. 69,
diagram

p. 251, ex. 70,
diagram

S25 $25

second line should be solid, not
dashed:

Bl —» $5 _— book ----- Harry

SBJ A.OBL OBJ S.0OBL



